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BSEH Practice Paper (March 2024) 

CLASS: 12th (Senior Secondary)      Code: A 

Roll No.  

Biotechnology 

जैव Ĥोɮयोͬगकȧ  

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 60] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 14 हɇ 
और इसमɅ 30 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 14 in number and it contains 30 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 

 अपनी उƣर पुिèतका मɅ खालȣ पÛना /पÛने न छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 
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 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलखे उƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने स ेपूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 

 (iii) Marks of each question are indicated against it. 
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1.  Hind III enzyme is obtained from?     1 

  a) Haemophilus influenza  

  b) Haemophilus aegyptus 

  c) Escherichia coli 

  d) Arthrobacter luteus 

  Hind III एजंाइम ͩकससे ĤाÜत होता है?     1 

  a) हȣमोͩफलस इÛÝलूएंजा  

  b) हेमोͩफलस एिजÜटस 

  c) एèचेǐरͬचया कोलाई 

  d) आĠȾबैÈटर ãयूटस 

 2.  Which of the following interaction is not involved in 

organising the structure of protein?    1 

  a) Ionic bonds  

  b) Hydrogen bonds  

  c) Co-ordinate bonds 

  d) Van der Waal forces  

Ĥोटȣन कȧ संरचना को åयविèथत करने मɅ Ǔनàनͧलͨखत मɅ स ेकौन 

से आबÛध शाͧमल नहȣं है?     

 a) आयǓनक आबÛध  

 b) हाइĜोजन आबÛध   
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 c) उपसहसंयोजन आबÛध  

 d) वैन डेर वॉल बल  

3.  What is single letter code for Lysine?   1 

 a) K 

 b) L 

 c) M 

 d) N 

 लाइͧसन के ͧलए एकल अ¢र कोड Èया है?    

 a) K 

 b) L 

 c) M 

 d) N 

4.  Which of the following can be used as nitrogen source 

in microbial culture media?     1 

 a) Starch 

 b) Urea 

 c) Lactose 

 d) Cereal grains 

सêूमजीवी संवध[न माÚयम मɅ नाइĚोजन İोत के Ǿप मɅ Ǔनàनͧलͨखत 

मɅ स ेͩकसका उपयोग ͩकया जा सकता है? 
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 a) माँड 

 b) यूǐरया 

 c) दÊुधशक[ रा 

 d) अनाज के कण  

5.  Which of the following is not an example of organ 

culture?          1 

a) Leaf culture 

b) Endosperm culture 

c) Root culture 

d) Ovule culture 

Ǔनàनͧलͨखत मɅ स ेÈया अंग संवध[न का एक उदाहरण नहȣ ंहै?  

a) पƣी संवध[न 

b) एंडोèपम[ संवध[न 

c) मूल संवध[न 

d) बीजांड संवध[न 

6.  Who established the first human cell line?  1 

 a) G. Kohler 

 b) G. Gay 

 c) C. Milstein 

 d) All of the above 

 पहलȣ मानव कोͧशका रेखा कȧ èथापना ͩकसने कȧ थी? 
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a) जी. कोहलर 

 b) जी. गे 

 c) सी. ͧमलèटȣन 

 d) उपयु[Èत सभी 

7.  Plasmids are ______________ stranded DNA.  1 

 Üलािèमड ____________________ èĚɇडडे डीएनए हɇ। 

8.  What is source of papain?      1 

 पपैन का İोत Èया है?   

9.  Who coined the term “Genomics”?    1 

 "जीनोͧमÈस" शÞद ͩकसने गढ़ा? 

10.  Freeze-drying involves freezing of a culture followed by 

drying under _________________.     1 

 ĥȧज सखुाने मɅ एक संवध[न को ĥȧज करना शाͧमल है, िजसके बाद 

_________________ मɅ सुखाया जाता है।    

11.  What are edible vaccines?      1 

 खाɮय टȣके Èया हɇ?  

12.  Haemophilia B is known as _________ disease. 1 

 हȣमोफȧͧलया बी को ____ रोग के Ǿप मɅ जाना जाता है। 

13.  The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below. 1 
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Assertion (A): Mammalian cells are grown in incubators 

maintained at 37 0C. 

Reason (R): The core body temperature of Homo 
sapiens is 37 0C. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true, and R is not the correct 

explanation of A.   

 c) A is true but R is false  

 d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।          

अͧभकथन (A): èतनधारȣ कोͧशकाओ ंको 37 ͫडĒी सेिãसयस पर 

बनाए गए इनÈयूबेटरɉ मɅ उगाया जाता है। 

कारण (R): होमो सेͪ पयÛस के शरȣर का मुÉय तापमान 37 ͫडĒी 
सेिãसयस है। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 
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14. The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below.    1 

Assertion (A): Synthetic media contain pure chemicals. 

Reason (R): BHI is a synthetic medium. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true, and R is not the correct 

explanation of A.   

 c) A is true but R is false  

 d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।          

अͧभकथन (A): कृǒğम माÚयम मɅ शɮुध रसायन होते हɇ। 

कारण (R): बीएचआई एक कृǒğम माÚयम है। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 
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15.  The question below consists of two statements: Assertion 

(A) and Reason (R), answer the question by selecting 

the appropriate option given below.    1 

Assertion (A): Restriction enzymes are known as 

molecular scissors. 

Reason (R): Digestion of DNA by restriction enzymes 

produces blunt ends. 

a) Both A and R are true, and R is the correct 

explanation of A.  

b) Both A and R are true, and R is not the correct 

explanation of A.   

 c) A is true but R is false  

 d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), 

Ĥæन के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर

 दȣिजए।          

अͧभकथन (A): ĤǓतबधं एजंाइमɉ को आणͪवक कɇ ची के Ǿप मɅ जाना 

जाता है। 

कारण (R): ĤǓतबंध एंजाइमɉ ɮवारा डीएनए का पाचन कंुद छोर पैदा 

करता है। 

  a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

  b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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  c) A स×य है परंतु R अस×य है। 

  d) A अस×य है परंतु R स×य है। 

 16.  What is RFLP? Write its one application.   2 

  RFLP Èया है? इसका एक अनĤुयोग ͧलͨखए। 

 17.  Name two human diseases caused by absence of a 

protein.         2 

  Ĥोटȣन कȧ अनुपिèथǓत के कारण होने वाले दो मानव रोगɉ के नाम 

बताइए। 

 18.  Differentiate between batch culture and fed batch culture.  

            2 

  बैच संवध[न और फेड-बैच संवध[न के बीच अंतर करɅ।  

Or  

अथवा  

  How is continuous culture better than batch or fed-

batch cultures?        2 

  Ǔनरंतर संवध[न बैच या फेड-बैच संवध[नɉ से बेहतर कैसे है? 

 19.  What problems must be tackled while expressing a 

eukaryotic gene in a prokaryotic host?   2 

  ĤोकैǐरयोǑटक होèट मɅ यूकेǐरयोǑटक जीन åयÈत करत ेसमय ͩकन 

समèयाओ ंस ेǓनपटा जाना चाǑहए? 



BSEH Practice Paper Class: XII March-2024 

11 
Biotechnology   Code: A 

 20  How are monoclonal antibodies different from polyclonal 

antibodies? Write one therapeutic application of 

monoclonal antibody.       2 

  मोनोÈलोनल एंटȣबॉडी पॉलȣÈलोनल एंटȣबॉडी से कैस े अलग हɇ? 

मोनोÈलोनल एंटȣबॉडी का एक ͬचͩक×सीय अनुĤयोग ͧलͨखए। 

Or 

अथवा  

  What is the mode of action of tPA? How is it produced 

by animal cell culture technology?    2  

  tPA कȧ कार[वाई का तरȣका Èया है? यह जÛत ुकोͧशका सवंध[न 

Ĥौɮयोͬगकȧ ɮवारा कैसे उ×पाǑदत ͩकया जाता है? 

 21.  Differentiate between roller bottle and spinner cultures? 

            2 

  रोलर बोतल और िèपनर संवध[नɉ के बीच अंतर Èया है? 

 22.  Enlist various steps involved in a rDNA experiment.  3 

  rDNA Ĥयोग मɅ शाͧमल ͪवͧभÛन चरणɉ को सूचीबɮध करɅ। 

Or 

अथवा  

  What are the essential features of a vector?  3 

  वेÈटर (वाहक) कȧ आवæयक ͪवशेषताए ंÈया हɇ? 
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 23.  E. coli is a rod-shaped bacterium about 2 µm long and 

1 µm in diameter. The average density of a cell is 1.28 

g/ ml. Approximately 13.5% of the wet weight of E. coli 

is soluble protein. Estimate the number of molecules of 

a particular enzyme per cell if the enzyme has a 

molecular weight of 100,000 and represents 0.1 % of 

the total soluble protein.      3 

  ई. कोलाई एक रॉड के आकार का बैÈटȣǐरया है जो लगभग 2 µm 

लंबा और 1 µm åयास का होता है। एक सले का औसत घन×व 

1.28 Ēाम / ͧमलȣलȣटर है। ई. कोलाई के गीले वजन का लगभग 

13.5% घुलनशील Ĥोटȣन है। ĤǓत सेल एक ͪ वशेष एजंाइम के अणुओं 

कȧ सÉंया का अनुमान लगाए ं यǑद एजंाइम का आणͪवक भार 

100,000 है और कुल घुलनशील Ĥोटȣन का 0.1% का ĤǓतǓनͬध×व 

करता है। 

 24.  Draw a diagram showing basic features of a fermentor.

          3 

  ͩकÖवक कȧ मूल ͪवशषेताओ ंको दशा[ने वाला आरेख बनाइए। 

 25.  What is random shotgun sequencing? What are the 

difficulties with assembling sequences with repeats? 3 

  याǺिÍछक शॉटगन अनुĐमण Èया है? दोहराव के साथ अनुĐमɉ को 

इकɪठा करन ेमɅ Èया कǑठनाइया ंहɇ? 

 26.  Write short note on artificial seeds.    3 

  कृǒğम बीजɉ पर संͯ ¢Üत ǑटÜपणी ͧलͨखए। 
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Or 

अथवा 

  Explain how gene gun functions to deliver genes into 

plant cells?        3 

  समझाइए ͩक जीन को पादप कोͧशकाओ ंमɅ पहंुचान ेके ͧलए जीन 

गन ͩकस Ĥकार काय[ करता है? 

 27.  How are animal cells cryopreserved? Give two examples 

of cryopreservatives.       3 

  जÛत ुकोͧशकाओ ंको कैस ेसंरͯ¢त ͩकया जाता है? ĐायोͪĤजवȶǑटव 

के दो उदाहरण दȣिजए। 

 28.  Write a note on non-covalent interactions involved in 

organising the structure of protein molecules.  5 

  Ĥोटȣन अणओु ं कȧ संरचना को åयविèथत करने मɅ शाͧमल गैर-

सहसंयोजक इंटरैÈशन पर एक नोट ͧलखɅ। 

Or 

अथवा 

  Explain structure-function relationship in proteins by 

giving example of chymotrypsin.     5 

  काइमोǑĚिÜसन का उदाहरण देकर Ĥोटȣन मɅ सरंचना-काय[ संबंध कȧ 

åयाÉया करɅ। 

 29.  Explain FISH.        5 

  FISH कȧ åयाÉया करɅ।   
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Or  

अथवा  

  Explain microarray technology.     5 

  माइĐोएरे तकनीक को समझाइए। 

 30.  Write steps of basic technique of plant tissue culture. 

            5 

  पादप ऊतक संवध[न कȧ मूल तकनीक के चरण ͧलͨखए। 

Or 

अथवा 

  Explain methods of vector less gene transfer.  5  

  वेÈटर रǑहत जीन èथानांतरण के तरȣकɉ कȧ åयाÉया करɅ। 

 

 

 

 

  

 


